State Lands Timber Sale Bid 2019 - NW District

									e Area	ek Wildlif	e Beds Cre	Ric
							Scaled		ow Sale	ds 35 Bel	Rice Be	
				Bidder					1-19	Beds Creek	Rice	Tract
ave bid			Northwest	Norton	N Central	Park Falls	Strzok	Min Price	Min Bid	Volume		<u>Species</u>
1												
260.0			\$200.00	\$323.00	\$280.00	\$250.00	\$250.00	\$17,170.00	\$202.00	85	MBF	Red Oak Logs
181			\$100.00	\$200.00	\$280.00	\$150.00	\$175.00	\$648.00	\$108.00	6	MBF	MxHd Logs
12.0			\$12.00	\$17.00	\$1.00	\$20.00	\$13.00	\$4,050.00	\$9.00	450	cords	Oak Pulp
11.3			\$18.00	\$14.00	\$1.00	\$12.50	\$13.00	\$1,620.00	\$16.20	100	cords	MxHd Pulp
#DIV/0!								\$0.00				
#DIV/0!								\$0.00				
#DIV/0!								\$0.00				
#DIV/0!								\$0.00				
1	\$0.00	\$0.00	\$24,800.00	\$37,705.00	\$26,030.00	\$32,400.00	\$29,450.00	\$23,488.00			•	Total

S	traight Lak	e Wildlife	Area										
	G	ood Oak S	ale		Lump Sum								
Tract	Str	aight Lake 1	-18					Bidder				_	
Species		<u>Volume</u>	Min Bid	Min Price	Strzok	Norton	Northwest	Hansons				ave bid	
Red Oak Logs	MBF	149	\$293.00	\$43,657.00	\$300.00	\$333.00	\$345.00	\$275.00				\$313.25	
Mx Hdwd Logs	MBF	11	\$143.00	\$1,573.00	\$175.00	\$225.00	\$152.00	\$250.00				\$200.50	
Basswood Logs	MBF	29	\$114.00	\$3,306.00	\$100.00	\$135.00	\$108.00	\$250.00				\$148.25	
White Oak Logs	MBF	4	\$144.00	\$576.00	\$175.00	\$300.00	\$100.00	\$350.00				\$231.25	
Oak pulp	cds	200	\$9.50	\$1,900.00	\$15.00	\$15.00	\$15.00	\$10.00				\$13.75	
Mx hdwd pulp	cds	100	\$19.00	\$1,900.00	\$15.00	\$ 15.00	\$20.00	\$10.00				15	
Aspen	cds	100	\$23.80	\$2,380.00	\$15.00	\$ 20.00	\$30.00	\$15.00				20	
Basswood Pulp	cds	60	\$7.70	\$462.00	\$15.00	\$ 5.00	\$3.00	\$5.00				7	
Total				\$55,754.00	\$57,125.00	\$64,007.00	\$64,789.00	\$57,175.00	\$0.00	\$0.00	\$0.00		

Weighted Average of all bids

 aspen
 #DIV/0!
 #DIV/0!

 MX pulp
 #DIV/0!
 #DIV/0!

 Oak pulp
 #DIV/0!
 #DIV/0!

 Red Pine
 #DIV/0!
 #DIV/0!

 BA pulp
 #DIV/0!
 #DIV/0!

Red Oak

Basswood MX volume

spp cds tons mbf cords tons MBF

#DIV/0!

#DIV/0! #DIV/0! #DIV/0!

	Straight La	ke State P	ark										
·	South Park	Oak Sale			Lump Sum								
Tract	Str	aight Lake 3	-18						Bidder				<u> </u>
Species		<u>Volume</u>	Min Bid	Min Price	Strzok	Р	ark Falls	Norton	Duncan	Northwest	Hansons		ave bid
													1
Red Oak Logs	MBF	98.00	\$239.00	\$23,422.00	\$250.00	5	228.00	\$380.00	\$225.00	\$265.00	\$250.00		\$266.33
MxHd Logs	MBF	6.00	\$128.00	\$768.00	\$175.00	5	\$150.00	\$250.00	\$175.00	\$100.00	\$250.00		\$183.33
Basswood Logs	MBF	2.10	\$114.00	\$239.40	\$100.00	5	150.00	\$150.00	\$150.00	\$50.00	\$250.00		\$141.67
White Oak Logs	MBF	1.80	\$128.00	\$230.40	\$175.00	5	\$150.00	\$300.00	\$200.00	\$100.00	\$350.00		\$212.50
Sugar Maple Logs	MBF	1.20	\$239.00	\$286.80	\$250.00	\$	150.00	\$300.00	\$250.00	\$140.00	\$250.00		\$223.33
Oak Pulp	cords	230.00	\$9.50	\$2,185.00	\$15.00	\$	21.00	\$17.00	\$25.00	\$12.00	\$5.00		\$15.83
MxHd Pulp	cords	66.00	\$19.00	\$1,254.00	\$15.00	\$	13.00	\$13.00	\$25.00	\$15.00	\$10.00		15.16667
Aspen	cords	20.00	\$23.80	\$476.00	\$15.00	\$	25.00	\$18.00	\$35.00	\$20.00	\$25.00		23
Total				\$28,861.60	\$31,115.00	\$3	0,197.00	\$45,083.00	\$32,175.00	\$31,173.00	\$29,765.00	\$0.00]

\$20.70 #DIV/0! #DIV/0! #DIV/0! #DIV/0! #DIV/0! #DIV/0! #DIV/0! #DIV/0!

	Ice Age T	rail Proper	ty								
- 1	CE AGE PIN	E			Scaled						
Tract		CE AGE 2-18	8	_				Bidder			
<u>Species</u>		Volume	Min Bid	Min Price	D'Jock	N Central	Park Falls				
Red Pine Pulp	cords	200	\$18.10	\$3,620.00	\$18.10	\$19.00	\$25.00				
				\$0.00							
				\$0.00							
				\$0.00							
				\$0.00							
				\$0.00							
				\$0.00							
				\$0.00							
				\$0.00							
Total				\$3,620.00	\$3,620.00	\$3,800.00	\$5,000.00	\$0.00	\$0.00	\$0.00	\$0.00

		n Sloughs W	Vildlife Area		Scaled							
Tract	0711-118					1	ı	Bidder	1		T	7
<u>Species</u>	unit	<u>Volume</u>		Min Price	D'Jock	N Central						ave
Mx Hdwd 4"	tons	1188		\$0.00	\$7.50	\$3.50						1
aspen 4"	tons	562		\$0.00	\$13.50	\$14.00						
Oak 4"	tons	963		\$0.00	\$2.00	\$3.50						
				\$0.00								#0
1x Hdwd Whole tree	tons	1307		\$0.00								#D
aspen whole tree	tons	590		\$0.00								#D
Oak whole tree	tons	1107		\$0.00								#0
				\$0.00								#0
Total			\$15,271.50	\$0.00	\$18,423.00	\$15,396.50	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	
G	ov Knowle	es State Fo	orest	1								
	Me	nke Gulch S	Sale		Scaled							
Tract	GK 10-19			ē				Bidder				=
<u>Species</u>		Volume	Min Bid	Min Price	Lauritsen	N Central						ave
												<u> </u>
Red Pine	cords	430		\$0.00	\$22.00	\$41.00						5
Oak	cords	350		\$0.00	\$14.00	\$12.00						
Mx Hdwd	cords	310		\$0.00	\$18.00	\$12.00						
Aspen	cords	280		\$0.00	\$24.00	\$30.00						
				\$0.00								#0
				\$0.00								#0

\$0.00

\$0.00

\$0.00

\$0.00

\$0.00

#DIV/0!

#DIV/0!

\$0.00

\$0.00

\$26,660.00

\$33,950.00

\$25,067.00 \$0.00

Total

	Gov Knowle	s State Fo	orest									
	Bri	stly Ridge S	Sale		Scaled							
Tract	GK 20-19			,				Bidder	-			-
<u>Species</u>		<u>Volume</u>	Min Bid	Min Price	Carlson	N Central						ave
Oak	cords	775		\$0.00	\$17.95	\$21.00						
Ash	cords	330		\$0.00	\$5.00	\$21.00						
Mx Hdwd	cords	90		\$0.00	\$10.00	\$21.00						
Yellow Birch	cords	60		\$0.00	\$8.00	\$21.00						
Red Pine	cords	15		\$0.00	\$25.00	\$ 22.00						
				\$0.00								#
				\$0.00								#
				\$0.00								#
Total			\$17,314.50	\$0.00	\$17,316.25	\$26,685.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	

\$13.55 \$14.13 \$14.13 \$14.63 14.625 #DIV/0! #DIV/0!

(3ov Knowle	s State Fo	orest								
	Lo	st Creek Sa	ale		Scaled						
Tract	GK 10-18							Bidder			
<u>Species</u>		Volume	Min Bid	Min Price	N Central	D'Jock					
Oak	cords	550		\$0.00	\$14.25	\$12.85					
Mx Hdwd	cords	170		\$0.00	\$14.25	\$14.00					
Ash	cords	95		\$0.00	\$14.25	\$14.00					
Aspen	cords	35		\$0.00	\$14.25	\$15.00					
White Pine	cords	20		\$0.00	\$14.25	\$ 15.00					
				\$0.00							
Whole tree -all spp	cords	1000		\$0.00							
				\$0.00							
Total			\$11,600.00	\$0.00	\$12,397.50	\$11,602.50	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00

	Sand Creek	Fishery A	rea									
	H	olmberg Pin	е		Scaled							
Tract	4981-119			=				Bidder				_
<u>Species</u>		<u>Volume</u>	Min Bid	Min Price								
						No R	ida					
White Pine	tons	925		\$0.00		INO D	lus					
Aspen	tons	75		\$0.00								
Red Pine	tons	50		\$0.00								
Mx Hdwd	tons	40		\$0.00								
				\$0.00								
				\$0.00								
				\$0.00								
				\$0.00								
Total			\$13,185.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	

\$11.42 \$5.99 \$10.08 \$9.87 10.135 9.1475 #DIV/0!

	Fish Lake	Wildlife A	rea			_					
	M	cCand Pond	ds		Scaled						
Tract	719-119			_				Bidder			
<u>Species</u>		<u>Volume</u>	Min Bid	Min Price	Lauritsen	Strzok	D'jock	N. Central			
Aspen	tons	1250		\$0.00	\$10.66	\$9.00	\$12.00	\$14.00			
Oak	tons	1350		\$0.00	\$5.09	\$7.37	\$2.00	\$9.50			
Red Pine	tons	340		\$0.00	\$9.77	\$9.00	\$9.89	\$11.65			
Jack Pine	tons	575		\$0.00	\$8.94	\$9.00	\$9.89	\$11.65			
White Pine	tons	750		\$0.00	\$10.00	\$ 9.00	\$9.89	\$11.65			
Mx Hdwd	tons	440		\$0.00	\$8.75	\$ 8.45	\$9.89	\$9.50			
				\$0.00							
				\$0.00							
Total			\$38,499.50	\$0.00	\$40,008.80	\$39,902.50	\$38,518.45	\$53,902.25	\$0.00	\$0.00	\$0.0

	Crex Meado	ws Wildlife	Area									
		Jay Sale			Scaled							
Tract	780-119							Bidder				_
<u>Species</u>		<u>Volume</u>	Min Bid	Min Price	D'Jock	N Central	Fornengo	Futurewood	Carlson			av
Aspen	tons	1610		\$0.00	\$14.00	\$14.00	\$26.00	\$23.50	\$18.67			
Oak	tons	1650		\$0.00	\$5.00	\$5.00	\$7.50	\$3.00	\$7.64			
Mx Hdwd	tons	230		\$0.00	\$5.00	\$5.00	\$13.00	\$10.00	\$12.50			
Jack Pine	tons	130		\$0.00	\$5.00	\$4.00	\$15.00	\$10.00	\$9.90			
				\$0.00								#
				\$0.00								#
				\$0.00								#
				\$0.00								#
Total			\$29,647.00	\$0.00	\$32,590.00	\$32,460.00	\$59,175.00	\$46,385.00	\$46,826.70	\$0.00	\$0.00	

\$18.41 \$4.33 \$6.33 \$365.00 191.6667 #DIV/0! #DIV/0!

	Loon Lake	Wildlife A	rea								
					Scaled						
Tract	#4-18			_				Bidder			
<u>Species</u>		Volume	Min Bid	Min Price	N. Central	Duncan	Futurewood				
Aspen	tons	2094	\$10.10	\$21,149.40	\$17.77	\$17.46	\$20.00				
Red Oak Pulp	tons	630	\$5.90	\$3,717.00	\$1.00	\$6.00	\$6.00				
Mx Hdwd Pulp	tons	841	\$8.50	\$7,148.50	\$1.00	\$9.00	\$9.00				
Red Oak Logs	MBF	14.2	\$199.00	\$2,825.80	\$500.00	\$295.00	\$300.00				
Mx Hdwd Logs	MBF	8.44	\$127.00	\$1,071.88	\$200.00	\$ 175.00	\$200.00				
				\$0.00							
				\$0.00							
				\$0.00							
Total				\$35,912.58	\$47,469.38	\$53,576.24	\$59,177.00	\$0.00	\$0.00	\$0.00	\$0.00

Name	ekagon E	Barrens Wild	life Area									
		The Last Star	nd		Scaled							
Tract	#1-19			_				Bidder				_
Species		Volume	Min Bid	Min Price	Priem	Fornengo	Carlson	Hershey				ave bid
Red Pine Whole Tree	tons	10310	\$2.20	\$22,682.00	\$3.00	\$4.25	\$13.56	\$3.50				\$6.0
Jack Pine Whole Tree	tons	4350	\$2.10	\$9,135.00	\$3.00	\$4.25	\$10.35	\$3.50				\$5.2
Oak Whole Tree	tons	270	\$0.50	\$135.00	\$3.00	\$4.25	\$10.00	\$3.50				\$5.1
				\$0.00								#DIV/0
				\$0.00								#DIV/0
				\$0.00								#DIV/0!
				\$0.00								#DIV/0!
				\$0.00								#DIV/0!
Total				\$31.952.00	\$44,790.00	\$63,452,50	\$187,526,10	\$52,255,00	\$0.00	\$0.00	\$0.00	

\$20.39 \$13.14 \$19.94 \$3.97 #DIV/0! #DIV/0! #DIV/0! #DIV/0!

Totogatic Wild River											
Tract Species				Min Price	Scaled						
	#2-19	<u>Volume</u>	Min Bid		Bidder						
					sappi	Futurewood	Fornengo				
Aspen	tons	570	\$15.10	\$8,607.00	\$18.67	\$18.50	\$24.00				
Mx Hdwd	tons	160	\$8.90	\$1,424.00	\$15.42	\$11.00	\$13.00				
Red Pine	tons	340	\$15.00	\$5,100.00	\$18.82	\$15.00	\$26.00				
Scrub Oak	tons	35	\$1.60	\$56.00	\$2.91	\$3.00	\$6.00				
				\$0.00							
				\$0.00							
				\$0.00							
				\$0.00	·			·			
Total				\$15,187.00	\$19,609.75	\$17,510.00	\$24,810.00	\$0.00	\$0.00	\$0.00	\$0.00